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Also the hands that come on account of a scroll

Overview

The X3 cited a Xn°>72 which stated that hands which touched a scroll of Scripture
are 7N H019, on account of 7379 . Our NMoOIN discusses the chronology of the
various M1 regarding 7.

mooIn anticipates a difficulty:
= 990 NNNN MNAN DY DY 79 NN NN 191X 990N HYT YIYN GN NINPIN

Since the Xn =2 states, ‘the 150 nnann MX2T 0°7° are also 7010°, the word ‘also’
indicates that they were first =213 that the =5% should be %01, and only

afterwards were they also 713 that the 95977 nan? NIR3T 297° should also be 7010 -
- 191 2095212 990 HHNN MNIN 015 19 OX 1APY ANT 191 919D 051 ONUT 1)

And since, as the X923 states later that, they were 9113 on ‘plain’ 2575 (not N7
190 nann) after they were M3 on 190 NN MX2T 0°7°, therefore we must conclude

that they were 9113 on 950 n»n» NIR27 2°7° on that very day -
=929 17912590 NN 12 ONY 31:11’5” 19T 027 DNDYT NIOTY 99047 N )2 NPT

Because they were 97113 on 190 nnnn 2°X27 2°7° between the 77913 of 950 and the
79913 of 297° ang, so it turns out that there are more than the =37 n''"!

mooIn attempts to offer an answer, but rejects it:
- %9591 AN 711 199 BPN RYN 19T 599 ININD XY 990 NNNM MNIN D157 Y¥T NI ON)

And if we will assume that they were not 9713 on 952 n»n» 2%827 25757 during
that period of the 727 1", rather the 77°1 on 790 nnAn NMIX27 o°7° was done

previously, then it would be acceptable -

=19 YNWN XY GN PYY IN
However the expression of X (also) does not indicate so that 190 n»nn o3 o7
was before 790, but rather that 790 nnnn NIRAT 0°7° [also; meaning it] came after 790!

An additional difficulty with saying that 990 nann NX37 0°7 preceded 190:

' On the '2 Ty,

? 0212 (on that very day) refers to the day they were 713 the 927 1" (see our 2,3 Twn).

? 990 and ono o7 are two of the 727 7™, In the remaining M1 we do not find a 771 of 190 naAR MIXAT D7,
However since it seems that their 77°73 took place 017212 (since it took place after the 77°1 of 790 and before the 77712
of ano o7, which both took place 01°212) so why is it not counted as the 7127 v">. See “Thinking it over’.

* First there was the 77°Tx on 790 NnM» 2°RA7 2°7° before the MM of the 127 ", then the M7°13 on 190 and on 27> QNO
as part of the 727 1".
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And furthermore it is inconceivable that they first decreed on nnrn NIRRT 297

150, and at that time a =9% itself would not yet be 772190 %215! mooin does not answer
his question.®

Summary
It would seem that the 137°12 on 190 nNHAM NIRAT 2°7° was made between the N1 of

990 and ano °7° which would make it the 227 v'">!

Thinking it over

Seemingly what is N190Wn question;’ granted that initially there were three n17°; 1
on 790, 2 on 190 N NIR2T 2°7°, and 3 and a°7°. However once they were 713 on
ano 2°7, the 77°13 on 190 DM NINAT 2°7° became superfluous, for it was subsumed
and included in and o7, therefore it was no longer counted and there are only 11"

~27.8

> If the =90 itself is not 71170 2019, why should the 0*7> which merely touched a 790 be 7m0 20197!

® See w"X71 Moo who answers that the 9109 of 790 namn MXAT 27 (which is on account of 7175 ") is not the same
type of 7100 as the 190 itself (which is because of &7°09), therefore it is possible that the 7713 of 07> took place
before the 77°13 on 790.

7 See footnote # 3.

¥ See 13 11"7 2,7 '0Wn and 2717 WO.
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